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(1) a. VP→ describe an event
b. AspP→ perspecƟve: event seen from inside/outside
c. TP→ anchor it in Ɵme with respect to the speech Ɵme
d. CP→ the anchored event is a fact/wish/query/condiƟon
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(4) A: The customer in the corner order-ed the drinks.
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(5) B: *Actually, I wouldn’t be so sure that he —.

(6) B: Actually, I wouldn’t be so sure that he did —.

5 / 112



.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

(4) A: The customer in the corner order-ed the drinks.

VP

NP

The customer in the corner

VP

V

ordered

NP

the drinks

(5) B: *Actually, I wouldn’t be so sure that he —.

(6) B: Actually, I wouldn’t be so sure that he did —.

5 / 112



.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

(4) A: The customer in the corner order-ed the drinks.

VP

NP

The customer in the corner

VP

V

ordered

NP

the drinks

(5) B: *Actually, I wouldn’t be so sure that he —.

(6) B: Actually, I wouldn’t be so sure that he did —.

5 / 112



.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

(4) A: The customer in the corner order-ed the drinks.

VP

NP

The customer in the corner

VP

V

ordered

NP

the drinks

(5) B: *Actually, I wouldn’t be so sure that he —.

(6) B: Actually, I wouldn’t be so sure that he did —.

5 / 112



.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

The sentence always has V and T

TP

NP

He

TP

T

-ed

VP

VP

V

order

NP

the drinks

PP

before the dinner

6 / 112



.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

The sentence always has V and T

TP

NP

He

TP

T

-ed

VP

VP

V

order

NP

the drinks

PP

before the dinner

7 / 112



.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

How are aĸxes treated by the grammar?
TP

NP

He

TP

T

-ed

VP

VP

V

ordered

NP

the drinks

PP

before the dinner

(7) When a head is expressed by an aĸx, syntax must provide a
host for that aĸx.

a. Strategy 1: insert an expleƟve
He d-ed order the drinks.

b. Strategy 2: use an exisƟng host
He order-ed the drinks.
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Summary

(8) When a head is an aĸx...

a. Rescue 1: insert an expleƟve
b. Rescue 2: move something

(i) move the aĸx = aĸx hopping
(ii) move the host = head movement
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The economy of movement

(29) When we move a host to the suĸx:

a. Move as short as possible
b. Move as liƩle possible

▶ This does not seem speciĮc to individual languages
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(30) The Mirror Principle

a. The order of morphemes inside words is the mirror
image of the order of words in syntax
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Recap

Choosing between head-movement and aĸx hopping

ExpleƟve inserƟon in more detail

Using an exisƟng host
Sub-Strategy I: Aĸx Hopping

Using an exisƟng host
Sub-Strategy I: Aĸx Hopping

Czech

SelecƟng the host

QuesƟon formaƟon

Successive head movement

Summary
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(31) When a head is expressed by an aĸx, syntax must provide a
host for that aĸx.

a. Strategy 1: insert an expleƟve
He d-ed order the drinks.
Jest -li Petr bude číst knihy

b. Strategy 2: use an exisƟng host
He order-ed the drinks.
Bude -li Petr číst knihy, ...

(32) Strategy 2 comes in two types

a. Aĸx hopping (lowering)
b. Head movement

(33) When we move a host to the suĸx:

a. Move as short as possible
b. Move as liƩle possible

▶ Derives the Mirror Eīect in morphology
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Jest -li Petr bude číst knihy

b. Strategy 2: use an exisƟng host
He order-ed the drinks.
Bude -li Petr číst knihy, ...

(32) Strategy 2 comes in two types

a. Aĸx hopping (lowering)
b. Head movement

(33) When we move a host to the suĸx:

a. Move as short as possible
b. Move as liƩle possible
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